

303 Scribner Drive, Suite 201 New Albany, IN 47150

www.hwcengineering.com

January 03, 2022

Town of Whitestown Attn: Danny Powers 6210 Veterans Dr., Rm. 600 Whitestown, IN 46075

Re: Community Crossings Paving Program

2021-2 Funding - Application #10964 - DES #2101610

Bid Certification and Award Recommendation

Dear Mr. Powers:

We have reviewed and certified the bids for the referenced project. Please see the attached documents. The apparent low, responsive, responsible bidder for the project is Harding Group. Their bid for Application #10964 is \$993,601.00.

Upon legal review, the Town of Whitestown, at their discretion, may award the project accordingly. Once that is complete, documentation including the agreement between the Town of Whitestown and the awarded contractor will need to be sent to INDOT to obtain the funding for the project.

If you have any questions, please contact me.

Sincerely,

Josh Grabijas, P.E.

Joshul Daley

Attachments

## Town of Whitestown Community Crossings Paving Program 2021-2 Funding

## Application #10964 - DES #2101610 Bid Tabulation

Bid Opening: 12/17/21 at 10:00 am

Application #10964			Midwest Paving, LLC		Calumet Civil Contractors Inc.		DC Construction Services Inc		Harding Group		
Sub-project A: INDIANAPOLIS RD - WHITE LICK CT to Approximately 650 Feet Northwest of CR 550 S - Mill & HMA Overlay with Patching											
Pay Item Description	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Construction Engineering	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$1,550.00	\$1,550.00	
Mobilization and Demobilization	LS	1	\$69,901.00	\$69,901.00	\$25,000.00	\$25,000.00	\$9,500.00	\$9,500.00	\$16,088.00	\$16,088.00	
Milling, Asphalt, 2 in	SYS	25551	\$1.50	\$38,326.50	\$1.50	\$38,326.50	\$2.06	\$52,635.06	\$2.00	\$51,102.00	
Milling, Approach	SYS	10258	\$1.25	\$12,822.50	\$0.01	\$102.58	\$0.01	\$102.58	\$3.00	\$30,774.00	
HMA Patching, Type B	TON	116	\$90.00	\$10,440.00	\$170.00	\$19,720.00	\$95.25	\$11,049.00	\$130.00	\$15,080.00	
HMA Patching, Type C	TON	77	\$90.00	\$6,930.00	\$210.00	\$16,170.00	\$96.35	\$7,418.95	\$156.00	\$12,012.00	
D-1 Contraction Joint	LFT	480	\$19.00	\$9,120.00	\$9.00	\$4,320.00	\$4.00	\$1,920.00	\$14.00	\$6,720.00	
PCCP Patching, Full Depth	SYS	200	\$260.00	\$52,000.00	\$165.00	\$33,000.00	\$94.07	\$18,814.00	\$148.00	\$29,600.00	
Retrofitted Tie Bars	EACH	80	\$26.00	\$2,080.00	\$13.00	\$1,040.00	\$48.50	\$3,880.00	\$26.00	\$2,080.00	
HMA, 12.5mm, Surface, Type C	TON	2945	\$74.00	\$217,930.00	\$80.00	\$235,600.00	\$96.35	\$283,750.75	\$67.00	\$197,315.00	
HMA for Approaches, Type B	TON	887	\$72.00	\$63,864.00	\$50.00	\$44,350.00	\$89.12	\$79,049.44	\$80.50	\$71,403.50	
HMA Wedge and Level, Type B	TON	100	\$64.00	\$6,400.00	\$80.00	\$8,000.00	\$89.12	\$8,912.00	\$76.00	\$7,600.00	
Asphalt for Tack Coat	TON	6.7	\$1.00	\$6.70	\$1,500.00	\$10,050.00	\$600.00	\$4,020.00	\$1,095.00	\$7,336.50	
Line, Thermoplastic, Solid, White, 4 in.	LFT	14600	\$0.69	\$10,074.00	\$0.52	\$7,592.00	\$0.78	\$11,388.00	\$0.66	\$9,636.00	
Line, Thermoplastic, Solid, Yellow, 4 in.	LFT	14600	\$0.69	\$10,074.00	\$0.52	\$7,592.00	\$0.78	\$11,388.00	\$0.66	\$9,636.00	
Transverse Marking, Thermoplastic, Stop Line, White, 24 in.	LFT	200	\$6.30	\$1,260.00	\$9.44	\$1,888.00	\$7.00	\$1,400.00	\$6.00	\$1,200.00	
Snowplowable Raised Pavement Marker	EACH	8	\$365.00	\$2,920.00	\$150.00	\$1,200.00	\$405.00	\$3,240.00	\$350.00	\$2,800.00	
Maintenance of Traffic	LS	1	\$20,000.00	\$20,000.00	\$54,048.92	\$54,048.92	\$3,000.00	\$3,000.00	\$17,150.00	\$17,150.00	
Sub-project A Total				\$535,148.70		\$509,000.00		\$526,467.78		\$489,083.00	

Pay Item Description	Units	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Construction Engineering	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$4,600.00	\$4,600.00
Mobilization and Demobilization	LS	1	\$62,014.00	\$62,014.00	\$25,000.00	\$25,000.00	\$9,500.00	\$9,500.00	\$22,200.00	\$22,200.00
Pipe, Remove	LFT	100	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$8.00	\$800.00	\$80.00	\$8,000.00
Pipe, Abandon and Grout Fill	LFT	75	\$35.00	\$2,625.00	\$44.00	\$3,300.00	\$12.00	\$900.00	\$115.00	\$8,625.00
Flowable Backfill, Non-Removable	CYS	133	\$125.00	\$16,625.00	\$140.00	\$18,620.00	\$145.00	\$19,285.00	\$127.00	\$16,891.00
Milling, Asphalt, 2 in	SYS	20756	\$1.50	\$31,134.00	\$1.50	\$31,134.00	\$2.06	\$42,757.36	\$2.00	\$41,512.00
Milling, Approach	SYS	5059	\$1.25	\$6,323.75	\$0.01	\$50.59	\$0.01	\$50.59	\$3.00	\$15,177.00
HMA Patching, Type B	TON	367	\$90.00	\$33,030.00	\$145.00	\$53,215.00	\$95.25	\$34,956.75	\$130.00	\$47,710.00
HMA Patching, Type C	TON	77	\$90.00	\$6,930.00	\$210.00	\$16,170.00	\$96.35	\$7,418.95	\$156.00	\$12,012.00
D-1 Contraction Joint	LFT	480	\$19.00	\$9,120.00	\$9.00	\$4,320.00	\$4.00	\$1,920.00	\$14.00	\$6,720.00
PCCP Patching, Full Depth	SYS	200	\$260.00	\$52,000.00	\$170.00	\$34,000.00	\$94.07	\$18,814.00	\$148.00	\$29,600.00
Retrofitted Tie Bars	EACH	80	\$26.00	\$2,080.00	\$13.00	\$1,040.00	\$48.50	\$3,880.00	\$26.00	\$2,080.00
HMA, 12.5mm, Surface, Type C	TON	2392	\$74.00	\$177,008.00	\$80.00	\$191,360.00	\$96.35	\$230,469.20	\$67.00	\$160,264.00
HMA for Approaches, Type B	TON	438	\$72.00	\$31,536.00	\$50.00	\$21,900.00	\$91.00	\$39,858.00	\$80.50	\$35,259.00
HMA Wedge and Level, Type B	TON	100	\$64.00	\$6,400.00	\$80.00	\$8,000.00	\$86.00	\$8,600.00	\$76.00	\$7,600.00
Asphalt for Tack Coat	TON	5.5	\$1.00	\$5.50	\$1,400.00	\$7,700.00	\$600.00	\$3,300.00	\$1,095.00	\$6,022.50
Pipe, Type 2, Circular, 18 in.	LFT	175	\$125.00	\$21,875.00	\$75.00	\$13,125.00	\$257.00	\$44,975.00	\$194.50	\$34,037.50
Manhole, C4	EACH	2	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$2,942.00	\$5,884.00	\$6,400.00	\$12,800.00
Line, Thermoplastic, Solid, White, 4 in.	LFT	11860	\$0.69	\$8,183.40	\$0.52	\$6,167.20	\$0.78	\$9,250.80	\$0.66	\$7,827.60
Line, Thermoplastic, Solid, Yellow, 4 in.	LFT	11860	\$0.69	\$8,183.40	\$0.52	\$6,167.20	\$0.78	\$9,250.80	\$0.66	\$7,827.60
Transverse Marking, Thermoplastic, Stop Line, White, 24 in.	LFT	50	\$6.30	\$315.00	\$9.44	\$472.00	\$7.00	\$350.00	\$6.00	\$300.00
Maintenance of Traffic	LS	1	\$20,000.00	\$20,000.00	\$49,759.01	\$49,759.01	\$3,000.00	\$3,000.00	\$17,452.80	\$17,452.80
Sub-project B Total	•			\$505,888.05		\$504,000.00		\$510,220.45		\$504,518.00
Application #10964 - DES #2101610 Total Project Amount:				\$1,041,036.75		\$1,013,000.00		\$1,036,688.23		\$993,601.00

\$780,777.56

\$260,259.19

\$759,750.00

\$253,250.00

\$745,200.75

\$248,400.25

\$777,516.17

\$259,172.06

**Total CCMG Match Amount:** 

Total LPA Match Amount:

	Midwest Pavng LLC	Calumet Civil Contractors, Inc.	DC Construction Services, Inc	Harding Group	
CONTRACTOR CONTACT INFORMATION	11827 Greenfield Avenue	4898 Fieldstone Drive	3497 Conner St	2916 S. Kentucky Ave	
	Noblesville, IN 46060	Whitestown, IN 46075	Noblesville, IN 46060	Indianapolis, IN 46221	
	317-776-8925	317-769-1900	317-577-0276	317-849-9666	
		Brad Rader		Sean Lindsey	
AFFIDAVIT OF SUBCONTRACTORS EMPLOYED	Yes	Yes	Yes	Yes	
BID FOR PUBLIC WORK - FORM 96	Yes	Yes	Yes	Yes	
BID BOND (5% OF TOTAL BID AMOUNT)	Yes	Yes	Yes	Yes	
EMPLOYEE DRUG TESTING PLAN	No	Yes	Yes	Yes	
ADDENDUM ACKNOWLEDGEMENT	Yes	Yes	Yes	Yes	

Certified By: \_\_

Date: December 21, 2021